Sujet 5  Compréhension orale T STG
1. Tick the right box  1pt
This document is 
□ an interview   □ an advert   □ a conversation □ a phone call.

2. Tick the right box.  1pt
They are talking about 

□ buying something □ making photographs □ preparing a lesson □ repairing a computer

3. the woman wants ………………………………….                                                1pt
4. There are two possibilities.  ( 2+2  pts;  3+1 pts)
	
	First option
	Second option

	Type of machine
	…………………………..


	…………………………..

	Advantages
	· ……………………………

· ……………………………

· ……………………………

(give three)
	……………………………   (one)


5. Tick the right box.   2pts
The man has got    □ 0 
□  1 
□  2
□  3 machines.

6. Tick 3 boxes. 3pts
The woman will use the machine

□ to contact her family

□ to shop

□ to download music

□ to work

□ to watch films

□ to store photos

7. Circle: true, false, I can’t tell      4pts
The woman needs help to make a choice.    True/ false / I can’t tell

The man works in a shop. 


True/ false / I can’t tell

They are married.



True/ false / I can’t tell

In the end, a decision is made.

True/ false / I can’t tell










Total      / 20 points
